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ST 301 - TIME SI]R,IES

Answer all questions Time allowed: Two horrrs

1. (a) i. Explain cloarly thai is lnoalt by trcncl ol ir linrc scrics.

ii. WLat arc thc dillercrrl rnethods ft;r dr:tr:rmillil]g tro)d in a tinn] series'j

(b) Explainhorvthc'plinciploolIcastsquarcs'uscdtocsl,ir atctrc diIlItirIl{rs.jcs.

(c) Bdorv arc given the figtrr:s of prorluclion (il 100 lons) oi a suBar lir(itor1'.

Year: 1979 1930 1981 1982 1933 1984 1985

Procluction : 30 90 92 83 9,1 99 92

i. Fit a straight lite to thc Iigrrlcs br'' li:rast sqlrilc nrcthod.

ii. Esliimate thc prodirction lor ycar 1983.

2. (a) lVith rvhal co|rloncnt rvoulcl yorr nraillv assor:ia{,c in cac}r oltll(j fbilolvir)g:

i \ rrr, irr ,r . n o.r ,1, Lrr: ,b I,r,,,t,r, r,. Lr I, r., ,r',....

ii. 'ilirr: incrc:rsccl food production (lue 1io a constant incri:ase ir populatioll.

iii. Decreasc irr crnployrnclll in a sugal fncl,oL1' tlrrlirrg oll sr:asorrs.

iv. An cra of prosporitl.

v. An afl.er Easlcr salcs in a clc])artmcllt s1,olc.

(b) Enumcratc thc slieps you takc in compul,in1 scasonal indices bv lilh rr:lativc

rnethocl.

(c) Calculate Lhe seasooal irtiifts by the link rr:lativc lrcthod Ii)r thc (laha gi\,c1r l)(to$,:



3. (u)

(b)

O tput of Whcat in million tons

Year 1"r Quartcl 2"'r QurrL(]r 3"rQrdrl,or l, /, errirl l,.r

1995 60 c5 62 69

1996 62 68 65 68

1997 6l-r i0 01 {i)

1998 70 75 68 67

1999 72 80 7l) 78

Describe ihc 3 selccted points mcthod oi fitting trcnd by logistic curve.

Tlrc thrcc selectcd points ul, z2 atrd 113 corresponding to tt :2, f: : 30 and

tl = 58 are given as follorvs:

! 2 '/r =5;8
iz 30 ur=lJS6
/r 58 ar=2Jl B

Fit the logistic curvc by the rncl,hocl of selcctcd points.

values for I - 5, 18, 25, 35, 46, 50, 60. 66, 70.

Also obtaiD the trend

4. (a) Work

p5love

given

Glovcs Corp is revlewiug its quartcrly salcs of toughie, the most durable

they produce. The nurnbers of thcir product (il thousands) by quartcr arc:

Quarter

Year I II ITI TV

1989 142 312

1990 1,16 318

1991 160 330

1992 158 338

1993 162 380

109.1 162 362

488 208

512 212

602 187

572 176

563 200

587 205



i. Using [he ratio-to-mo\.ing,average method, determine t]rc
terly indices.

ii. Interpret the typi{ai seasonal pattern.

(b) The planning ciepartment of padget and l(ure shoes, the
exclusive braDd of womcn,s shoes, developecl the following
millions of pairs, based ou fivc yoars ol quarkxlv dat;r

I', = 3.30 + 1.7s I

Thc foilowing tablc givcs the se;rsonal factors for cach quartcr.

I ]] II] TV

Index 110.0 120.0 80.0
Determine the seasonally adjusted forccast lbr each

Yr'ars.

/

four typical quar-

matulacturer of an

trcDd equation, it

90.0

of the lbur quarters of thc six


